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QUESTION 1

Your client has subscribed to Financial Reporting Compliance and would like to address risks using treatment plans.
Which option shows the settings that will help in achieving this configuration? 

A. Configure Module Perspectives > Edit Financial Reporting Compliance > Risk-Organization mapping set to required,
active. 

B. Configure Module Objects > Edit Risk Object Configuration > Treatment = Show 

C. Configure Module Objects > Edit Risk Object Configuration > Treatment = Hide and Default 

D. Configure Module Objects > Edit Control Object Configuration > Result = Show 

E. Configure Module Objects > Edit Risk Object Configuration > Result = Show 

Correct Answer: D 

 

QUESTION 2

Your client has asked you to define a transaction model to identify duplicate invoices based on Invoice Numbers and
Invoice Amounts. Which two standard filters can be combined to accomplish this? (Choose two.) 

A. The "Payables Invoice" object\\'s "Supplier ID" does not equal itself. 

B. The "Payables Invoice" object\\'s "Invoice ID" is similar to the "Payables Invoice" object\\'s "Invoice Number". 

C. The "Payables Invoice" object\\'s "Invoice Amount" is equal to itself. 

D. The "Payables Invoice" object\\'s "Invoice Number" is equal to the "Payables Invoice" object\\'s "Invoice ID." 

E. The "Payables Invoice" object\\'s "Invoice Number" is equal to itself. 

Correct Answer: AD 

 

QUESTION 3

An organization has a list of companies with which they no longer wish to do business. The list is not stored in their ERP
Could but is stored in a file. Which transaction model will identify payments made to these companies? 

A. Create an Imported business object that can be used in conjunction with Oracle\\'s pre-built "Payment" object. One
both objects are in your model, add this standard filter: the "Payment" object\\'s "Remit to Supplier Name" is similar to
the custom object\\'s "Company Name" by 95%. 

B. Add a configurable attribute "Company Name" to Oracle\\'s pre-built "Payment" object. Then add this standard filter:
"Remit to Supplier Name" equals "Company Name". 

C. You cannot define this model because imported objects from a file cannot be used with delivered objects. 

D. Create an Imported business object that can be used in conjunction with Oracle\\'s pre-built "Payables Invoice"
object. Once both objects are in your model, add this standard filter: the "Payables Invoice" object\\'s "Supplier Name"
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equals the custom object\\'s "Company Name". 

Correct Answer: D 

 

QUESTION 4

Your client needs to perform Design Review and Certification assessment for all their controls. Identify two options that
show how this requirement can be met. (Choose two.) 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: AD 
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QUESTION 5

Your client has configured separate roles for control assessor and control assessment reviewer. The control assessor
has submitted his or her assessment. The control assessor realizes later that he or she has forgotten to attach a critical 

test evidence document to the assessment and needs to attach it now. 

How can this be accomplished? 

A. The assessor can request the reviewer to attach the document during the review. 

B. On the Assessment tab in the Control definition, the assessor can select the assessment and click the Complete
Assessment button. He or she can attach the document and resubmit the assessment. 

C. The assessor can request the reviewer to reject the assessment. After the assessment is rejected, the assessor can
then attach the document and resubmit the assessment. 

D. On the Manage Assessments page, the assessor can select the assessment and click the Reopen button. He or she
can then attach the document and resubmit the assessment. 

Correct Answer: D 
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